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Dancing men cipher

[primary/secondary]
: X.ANMM  AMAENAD  MistIbM
Jules Verne wrote his famous book . LIt YE NN44I4F N IPbACY
‘Journey to the Centre of the Earth’ in rem1Y kl 1A 1™MU  hd h“‘ﬁk
i AY2AM4L NRN1AYT™ AAT M
1864.. A runic cryptogram was }lsed to TANATA  CKHPAY  1411BM
provide the first step on this epic YYbAY!l +#4NADARNN  FAMNMN
adventure. b2 11F ku+iBh Ftblil

Sir Arthur Conan Doyle used a cipher in ‘The Adventures of the Dancing Men’,
which featured Sherlock Holmes, his famous detective. In the story, mysterious
messages were sent to a woman called Elsie. Sherlock Holmes used two facts to
help him solve these messages. Firstly he knew that the letter ‘e’ is the most
common letter in the English language. Secondly, Holmes believed that it was
likely that Elsie’s name would appear.

Message 1 from Criminal to Elsie

% TY X A EERLAL

Message 2 from Criminal to Elsie

1382 08

Message 3 from Criminal to Elsie

X gL X R

Elsie’s Message to the Criminal

BERA:

Message 4 from Criminal to Elsie

S TARENSCHID BT R ILE RILPLE

Sherlock Holmes’ message to the Criminal

5298082035625



+ Can you identify which figure might represent the letter ‘e’?
* Why is there a flag with some of the figures?

* Can you do as well as Sherlock Holmes in deciphering the messages?!
The dancing man cipher is another form of a substitution cipher.
A B C D E F G H I J K L M
Exdv ey Xhd s ALE
N O P Q R S T U VvV W X Y Z

* Can you now decipher the messages between the criminal and Elsie?

» What does this message say?

FRXEXEXERL XL
YIRELRXETL

* How would this word look if it were written using the Dancing men cipher?

deduction

+ Can you write your own message using the Dancing men cipher?



